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Jharkhand Police Set - A

1) Who founded the city of Agra?

STTRT MER &1 RITYAT frwm 3t di? [Question ID = 315092]

1. Bahlul Lodhi / ¥8¢d @it [Option ID = 1195105]

2. Sikandar Lodhi / RideR digl [Option ID = 1195106]
3. Akbar / 3(®aR [Option ID = 1195107]

4. Shah Jahan / M8l [Option ID = 1195108]

Correct Answer :-
» Sikandar Lodhi / & @Idt [Option ID = 1195106]

2) In which of the following years was the British East India Company (EIC) established in India?

fafafaa # @ 19 3 of fifew $% fgar $o=it (E1C) ¥Ra & w=afa g% di? [Question ID = 315093]

1. 1598 [Option ID = 1195109]
2. 1599 [Option ID = 1195110]
3. 1600 [Option ID = 1195111]
4. 1602 [Option ID = 1195112]

Correct Answer :-
« 1600 [Option ID = 1195111]

3) The chera Kingdom of Mahodayapuram was established in

WEIGUYH & AR ATYST H RITUA foar 741 4T [Question ID = 315094]

1. sixth century/ @d! Rdlsgl [Option ID = 1195113]

2. seventh century / |iddl Ydlsdl [Option ID = 1195114]
3. eighth century / 313dl IdTsal [Option ID = 1195115]
4. ninth century / df zraTsdt [Option ID = 1195116]

Correct Answer :-
« ninth century / 14T YraTsd [Option ID = 1195116]

4) Who was sworn in as the new Chief Minister of Nagaland in 2017?

2017 # NS ¥ ¢ g & w0 § s 9y o A? [Question ID = 315095]

1. Sarbananda Sonowal / TRE[H¢ GHIETT [Option ID = 1195117]
2. Shuhozelei Liezitsu / Jgivieh diviey, [Option ID = 1195118]

3. Pema Khandu / UHT @ig [Option ID = 1195119]

4, Mukul Sangma / % T [Option ID = 1195120]

[3)
ww
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5) According to the Great Backyard Bird Count (GBBC) 2017 report, which state has the highest
percentage of India's bird species?

I IPas 98 Bad] (GEIERT) 2017 R & garfaw, vRa o1 galt yofaat &1 g9 it wfawa o
fFaTadig?

[Question ID = 315096]

1. Himachal Pradesh / feHTaa W& [Option ID = 1195121]
2. Kerala / &< [Option ID = 1195122]

3. Assam / 3[3H [Option ID = 1195123]

4, Rajasthan / ISR [Option ID = 1195124]

Correct Answer :-
« Himachal Pradesh / fgHTad We=T [Option ID = 1195121]

6) Which of the following bio-reserves of India is not Included in the World Network of Biosphere
Reserves?

YRA & g Sa-fed 4 § 219 91 arareiar fed & iy Sead § e 78 82 [Question ID = 315097]

1. Manas / HF4 [Option ID = 1195125]

2. Gulf of Mannar / TAR & WIa1 [Option ID = 1195126]
3. Nilgiri / AR [Option ID = 1195127]

4, Nanda Devi / 5al &di [Option ID = 1195128]

Correct Answer :-
¢ Manas / HI1Y [Option ID = 1195125]

7) What s the full form of EBCDIC?

EBCDIC &7 YT -1TH 1 %” [Question ID = 315098]

1. Extended Binary Coded Decimal Interchange Code [Option ID = 1195129]
2. Extended Bit Code Decimal Intercharge Code [Option ID = 1195130]

3. Extended Bit Case Decimal Interchange Code [Option ID = 1195131]

4, Extended Binary Case Decimal Interchange Code [Option ID = 1195132]

Correct Answer :-
« Extended Binary Coded Decimal Interchange Code [Option ID = 1195129]

8) Which of the following countries' national animal is NOT tiger?

Prafufea 3= & A fewet wfia ugy ara 781 &2 [Question ID = 315099]

1. Malaysia / TR [Option ID = 1195133]

2. Bangladesh / ST [Option ID = 1195134]

3. Pakistan / OTf&I [Option ID = 1195135]

4, South Korea / &f&o1 ®IfXar [Option ID = 1195136]
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9) Who was the first Muslim lady to ever rule India?

YR UF XM FI arelt ugelt gieam afgar 19 A2 [Question ID = 315100]

1. Zeenat-un-Nishan / SIFd-39-fA=19 [Option 1D = 1195137]
2. Razia Sultana / foan YedMT [Option ID = 1195138]

3. Rani Lakshmibai / Xt @i&Ht 1€ [Option ID = 1195139]

4. Mumtaj Mahal / JHATS A [Option ID = 1195140]

Correct Answer :-
+ Razia Sultana / ISTT FedMT [Option ID = 1195138]

10) Yellow Revolution in India is related to

YR # Wieh wifa 399 T4 @ [Question ID = 315101]

1. saffron cultivation / HER &I Well [Option ID = 1195141]

2. oilseeds production / fadre I@rea [Option ID = 1195142]
3. advertising industry / fd9TI 3= [Option ID = 1195143]
4. mango production / 3TH 3dTg [Option ID = 1195144]

Correct Answer :-
» oilseeds production / faered I [Option ID = 1195142]

11) Sanskrit is an official language of which of the following states?

Tegpd [ Ta T BTG U 82 [Question ID = 315102]

1. Uttar Pradesh / 9TR UaXT [Option ID = 1195145]
2. Uttarakhand / 3TRRES [Option ID = 1195146]

3. Bihar / fS€R [Option ID = 1195147]

4. Madhya Pradesh / A% WSl [Option ID = 1195148]

Correct Answer :-
« Uttarakhand / 3TRIGS [Option ID = 1195146]

12) Who is the author of the book One Indian Girl?

TP YR de@! 31 [P & o=@ @19 ¢? [Question ID = 315103]

1. Chetan Bhagat / I Td [Option ID = 1195149]
2. Mark Tully / A& geit [Option ID = 1195150]

3. Amish Tripathi / 3Iffr=1 fAUTdt [Option ID = 1195151]
4. Ved mehta / 9§ BgdT [Option ID = 1195152]

Correct Answer :-
« Chetan Bhagat / ERERIUG [Option ID = 1195149]

13)
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2017-18 B TT UYUTH HAT Go1 T & TOE BT WIS TET TFUTR 1T 19 §? [Question ID = 315104]

1. Rs. 2.5 lakh crore / $UY 2.5 TG HRUS [Option ID = 1195153]
2. Rs. 1.5 lakh crore / U4 1.5 @G S [Option ID = 1195154]
3. Rs. 2 lakh crore / ¥UY 2 @RI HUS [Option ID = 1195155]

4, Rs. 2.44 lakh crore / ¥UY 2.44 TG HUS [Option ID = 1195156]

Correct Answer :-
s Rs. 2.44 lakh crore / IUY 2.44 ?ﬂ“@ﬁ's’ [Option ID = 1195156]

14) Which state will host the river festival 'Namami Brahmaputra' in 2017?

2017 ¥ Tt BT eR TN TG B AGT HEAT A9 HEN? [Question ID = 315105]

1. West Bengal J af3e e [Option ID = 1195157]

2. Arunachal Pradesh / 3130TAd U=l [Option ID = 1195158]
3. Odisha / 3fIfS=M [Option ID = 1195159]

4, Assam / 3HH [Option ID = 1195160]

Correct Answer :-
« Assam / 3{¥H [Option ID = 1195160]

15) Which of the following days is observed as the National Dengue Day in India?

Prafafea & @ 1 a1 37 yra & wfia 31 feaw & = & = Sa1 22 [Question ID = 315106]

1. 18 May / 18 TS [Option ID = 1195161]
2. 16 May / 16 TS [Option ID = 1195162]
3. 23 May / 23 53 [Option ID = 1195163]
4. 14 May / 14 113 [Option ID = 1195164]

Correct Answer :-
« 16 May / 16 ¥ [Option ID = 1195162]

16) Which of the following established The United Nations Development Programme (UNDP)?

frafafee ¥ & e vy 1y faer srdfww (quahl) ) wifia 531 32 [Question ID = 315107]

1. The Economic and Sacial Council / 3@ 3R TmIfoe HTIRIA [Option ID = 1195165]
2. The Trusteeship Council / TR HRIRTA [Option ID = 1195166]

3. The General Assembly / T T [Option ID = 1195167]

4. The International Monetary Fund / 3{cRRTSII T[T 1Y [Option ID = 1195168]

Correct Answer :-
« The General Assembly / THT-I T [Option ID = 1195167]

17) Besides Canada, UK, and France, the G-7 countries include

FTET, et ofR wig & ararmar, <t 7 320 F =nfirer & [Question ID = 315108]
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2. Germany, Italy, China and the United States / SH-1, 3¢dl, 91 3R HYdd Iy SRS [Option ID = 1195170]

3. Germany, Italy, Japan and the United States / SF+R, el ST SR Tgad g SR [Option ID =
1195171]

4. Germany, Italy, Russia and the United States / ST, Scell, ¥ 3R Tgad Wod @R [Option ID = 1195172]

Correct Answer :-
« Germany, Italy, Japan and the United States / STH-T, Seell, STUM SR Wgad I $MARST [Option ID =
1195171]

18) DIPAM stands for which of the following?

pIPAM Fmfef@a & I f59 & fRIT 22 [Question ID = 315109]

1. Department of Investment and Public Asset Management / F3=1 faHTT 3iR Idwif® Tufd Wee [Option ID =
1195173]

2. Development of Infrastructure and Public Asset Management / SIhRgaRR 3R Ufe® ToE Hrodic &I faam
[Option ID = 1195174]

3. District of Investment and Public Asset Management / fa1 3iR W@ wut weeM & el [Option ID =
1195175]

4. Department of Infrastructure and Public Asset Management / ATl a1 iR Ardw-a Haft waed faum
[Option ID = 1195176]

Correct Answer :-
« Department of Investment and Public Asset Management / F3=T faHTT 3R Trawife Wufi UaeM [Option ID
= 1195173]

19) In India, Consumenr Price Index (CPI) data is calculated by

R #, SUHte geu gaaie (didtans) 321 Y 1o & gr1 1 ot 2
[Question ID = 315110]

1. Mininstry of Finance / fd<1 H=ie [Option ID = 1195177]

2. Reserve Bank of India / HR<1g i §& [Option ID = 1195178]

3. Mininstry of Commerce / afOrerdl AT [Option ID = 1195179]

4, Central Statistics Office / $aid WIRSAH! BT [Option ID = 1195180]

Correct Answer :-
« Central Statistics Office / HaId WIRAD! HATAT [Option ID = 1195180]

20) what is the main slogan of the 12t Five Year Plan?

12 oY daadfg T 7 48T TRT F7 @2 [Question ID = 315111]

1. Sabka sath sabka vikas / Ga®T 1Y JFHT [dPH [Option ID = 1195181]

2. Faster and inclusive growth / a9 3fR THTARIT fa®RT [Option ID = 1195182]

3. Faster and sustainable growth / a9 3R fe®Ta fa®™ [Option ID = 1195183]

4. Faster, sustainable and more inclusive growth / a1, fe@Ta iR 3ifirs T fa®™ [Option ID = 1195184]

Correct Answer :-
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21) Which of the following was not a part of the green revolution strategy?

T A B 91 g wifd 31 Iorifa 31 = T8 41? [Question ID = 315112]

1. High-yielding variety seeds / 3 3USl ¢ dldl fdb¥ & &l [Option ID = 1195185]
2. Chemical fertilisers / IMIMA® FaP [Option ID = 1195186]

3. Use of pesticides / PIcIRIS| $1 IUTNT [Option ID = 1195187]

4, Organic farming / SIfd@ Wt [Option ID = 1195188]

Correct Answer :-
« Organic farming / “ifd@ Wit [Option ID = 1195188]

22) Who was sworn in as the Chief Minister of Goa in March 20177

AT 2017 ® 7aT & gEA & w9 § f&a wuy ot 42 [Question ID = 315113]

1. Laxmikant Parsekar / @&Hi@id IRI&R [Option ID = 1195189]
2. Chandrakant Kavlekar / ©gabid ddd®< [Option ID = 1195190]
3. Mridula Sinha / ggel g1 [Option ID = 1195191]

4, Manohar Parrikar / A-gR UR&R [Option ID = 1195192]

Correct Answer :-
« Manohar Parrikar / 18X URR@< [Option ID = 1195192]

23) Who was appointed the UNICEF Ambassador for ICC Women's World Cup 2017?

it wigen fay ®u 2017 & fT UNICEF % Ioiga T fAgaa 412 [Question ID = 315114]

1. Kumar Sangakkara / $HR TIPSR [Option ID = 1195193]
2. Adam Gilchrist / TSH fidfa<e [Option ID = 1195194]

3. Sachin Tendulkar / - dgeiR [Option ID = 1195195]
4. Virender Sehwag / diNg ggam [Option ID = 1195196]

Correct Answer :-
« Sachin Tendulkar / 99 dga®R [Option ID = 1195195]

24) What is the amount of funds allocated for highways in the Union Budget 2017-18?

2017-18 & $EIg Fuie § IS $ 1w smdfea v fai 82 [Question ID = 315115]

1. Rs. 50,000 crore / ¥UY 50,000 HRIS [Option ID = 1195197]
2. Rs. 60,000 crore / TUU 60,000 HRIS [Option ID = 1195198]
3. Rs. 55,000 crore / T 55,000 @RI [Option ID = 1195199]
4, Rs. 64,000 crore / 39U 64,000 HRIS [Option ID = 1195200]

Correct Answer :-
« Rs. 64,000 crore / 394 64,000 FIS [Option ID = 1195200]

25) How many India International centres would be set up under Skill India mission across the
country according to the Union Budget 2017-18?
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WiTe?
[Question ID = 315116]

1. 1000 [Option ID = 1195201]
2. 500 [Option ID = 1195202]
3. 50 [Option ID = 1195203]
4. 100 [Option ID = 1195204]
Correct Answer :-

« 100 [Option ID = 1195204]

26) In March 2017, which country's river gained the legal status of a person?

T 2017 ¥, 5w 31 9t 7 3 vo wfaw 3t wrp Rufa fiedt? [Question 1D = 315117]

1. South Africa / f&r 3BT [Option ID = 1195205]
2. Australia / 3{Te¢feraT [Option ID = 1195206]
3. New Zealand / =guilcig [Option ID = 1195207]
4, USA / 3@ [Option ID = 1195208]
Correct Answer :-
+ New Zealand / =Jsilcis [Option ID = 1195207]

27) InJanuary 2017, the Defence Ministry announced the setting up of a new defence unit in which
state?

THast 2017 H, Y& AT A {5 I H TP 7S 8T FHIS D WATYAT B U0 B2 [Question ID =
315118

1. Kamnataka / @Hlcd® [Option ID = 1195209]

2. Maharashtra / HERTY [Option ID = 1195210]

3. Madhya Pradesh f A&q TSR [Option ID = 1195211]
4. Jharkhand / YRES [Option ID = 1195212]

Correct Answer :-
« Madhya Pradesh / T Uc¥I [Option ID = 1195211]

28) Who is the Chairman of the NITI Aayog?

Hif SmaT & 3rede H 82 [Question ID = 315119]

1. President / 3{€H& [Option ID = 1195213]

2. Vice President / 3UT¥H&l [Option ID = 1195214]
3. Prime Minister / T T3 [Option ID = 1195215]
4. Finance Minister / fat T3 [Option ID = 1195216]

Correct Answer :-
« Prime Minister / W4T T3t [Option ID = 1195215]
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QWERTY ®IdIS P AR X T I THUT? [Question ID = 315120]

1. Carl Sholes / TTel & [Option ID = 1195217]

2. Thomas Edison / 4TA¥ T&TH [Option ID = 1195218]

3. Christopher Sholes / fhTHR T [Option ID = 1195219]
4. Stephen Crandall / T $aa [Option ID = 1195220]

Correct Answer :-
« Christopher Sholes / foheI®R L& [Option ID = 1195219]

30) Which of the following countries' official currency is NOT Peso?
Prafafae 3t & | fraat snfeive gar 9 =78 &2
[Question ID = 315121]

1. Argentina / 3fSI¢IFT [Option ID = 1195221]
2. Mexico / AfRIHT [Option ID = 1195222]

3. Philippines / fdIdig [Option ID = 1195223]
4, Brazil / STfoid [Option ID = 1195224]

Correct Answer :-
« Brazil / SIS [Option ID = 1195224]

Topic:- JSSC_Set33_GSci

1) One of the best solutions to get rid of non-biodegradable wastes is

IR-afEiRaw Suflpl & geen A F e 9ad sro13ug @ |
[Question ID = 315642]

1. Burying / G% [Option ID = 1197805]

2. Recycling / JargfacT [Option ID = 1197806]
3. Dumping / SfTT [Option ID = 1197807]

4. Burning / ST@HT [Option ID = 1197808]

Correct Answer :-
« Recycling / STSaET [Option ID = 1197806]

2) Leaf fall can be induced by:-

T fiRmae BRT e farar S wwar 2| [Question ID = 315643]

1. Florigen / Tl [Option ID = 1197809]

2. Auxin / 3fif@¥ [Option ID = 1197810]

3. Cytokinins / Ffd - [Option ID = 1197811]

4. Abscisic acid / 3ifeRRi® 3ifis [Option ID = 1197812]

Correct Answer :-
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3) Eosinis Type of indicator.

T3iif¥ {5 WHR F1 & 32 [Question ID = 315644]

1. Natural / WTgfde [Option ID = 1197813]

2. Synethetic / Rigfe® [Option ID = 1197814]
3. Universal / gfAadd [Option ID = 1197815]
4, Olfactory / 3 aeRI [Option ID = 1197816]

Correct Answer :-
« Synethetic / Ridfc® [Option ID = 1197814]

4) Red ants are known as in Greek

T =dt @1 Wi & 1 8T 941 87 [Question ID = 315645]

1. Chroma / ®HT [Option ID = 1197817]
2. Forma / WIXH [Option ID = 1197818]
3. Tora / TRT [Option ID = 1197819]

4, Termite / fHd [Option ID = 1197820]

Correct Answer :-
« Forma / ®RH [Option ID = 1197818]

5) If a p.d. of 220 V is applied across an electric heater of resistance 44 Q, the current through it will
be

3R TH 0V & U.EL. B ¥¥Q uleRiu® Fafees giex anmar oe af 394 | fFa- @ie Jem? [Question
ID = 315646]

1. 0.2 A [Option ID = 1197821]
2. 0.5 A [Option ID = 1197822]
3. 2A [Option ID = 1197823]
4. 5A [Option ID = 1197824]

Correct Answer :-
« 5A [Option ID = 1197824]

6) If a wire has resistance 200 Q and the current through it is 0.5A, the p.d. across the wire most

e fPft AR ¥ 0.4A FIT AT & 3R 98 000 F1 UfeRIYS B, 99 3T IR & fFa=r p. D. ST 2
[Question ID = 315647]

1. 400 V [Option ID = 1197825]
2. 200 V [Option ID = 1197826]
3. 100 V [Option ID = 1197827]
4. 50 V [Option ID = 1197828]

Correct Answer :-
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7) In a series combination. Which remains constant?

fFrafafaa gaa Taee # § o191 yaiy =g 82
[Question ID = 315648]

1. Current / B [Option ID = 1197829]

2. Voltage / el [Option ID = 1197830]

3. Both current and voltage / ®<¢ 3R diees g1 [Option ID = 1197831]
4. None of the above / 3704 ®1g i T8I [Option ID = 1197832]

Correct Answer :-
« Current / &3¢ [Option ID = 1197829]

8) The fluid matrix of blood is called

Wy g AR H CErE ]
[Question ID = 315649]

1. Blood vessels / Y& d1fgTd [Option ID = 1197833]
2. RBC / 3R&RiT [Option ID = 1197834]

3. Protein / WM [Option ID = 1197835]

4, Plasma / WITHT [Option ID = 1197836]

Correct Answer :-
» Plasma / WA [Option ID = 1197836]

9) The organs associated with the process of excretion are called

S B AT A R i B wEr e g
[Question ID = 315650]

1. Excretory Organs / e S [Option ID = 1197837]
2. Osmoregulation / 3{RHIRIARM [Option ID = 1197838]

3. Homeostasis / BRI [Option ID = 1197839]

4, Lymph / i [Option ID = 1197840]

Correct Answer :-

« Excretory Organs / {19 31T [Option ID = 1197837]

10) Lymph vessels are called .

fore arfgaralf &t &8l WITdT & | [Question ID = 315651]

1. Tonsils / IfR7a [Option ID = 1197841]

2. Valves / died [Option ID = 1197842]

3. Lymphatic' s / @ {da [Option ID = 1197843]
4, Lacteals / TIaC3{cd [Option ID = 1197844]
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11) Dark Reaction in photosynthesis is called so because:-

ST AT H ST T $T ST HBT 91T ¢ F1f%:- [Question ID = 315652]

1. Tt does not require light energy / S5 U Full &1 STa<gadT -Te] 81! & [Option ID = 1197845]
2. It occurs more than rapidly in night / I T1d # a5l & 3ifie SiaT © [Option ID = 1197846]

3. It can also occur in darkness / T8 38X T +ft 81 Tl & [Option ID = 1197847]

4. Tt cannot occur during daytime / f& & SR T 81 81 Wl [Option ID = 1197848]

Correct Answer :-
« It does not require light energy / STH TSI ol I MaLGEHT ol &l ¢ [Option ID = 1197845]

12) When a p.d. of 24 V is applied across a conductor, the current through it is 0.24 A. The
resistance of the conductor is i

W9 TP p.d. 24 V T TF $SFX W AR ST 8, TAA & ATHH T TE 0.24 a ¢ $SaeX o1 qhwiy
2| [Question ID = 315653]

1. 100 Ohm / 100 311¥ [Option ID = 1197849]
2. 10 Ohm / 10 37/H [Option ID = 1197850]

3. 5.76 Ohm / 5.76 {191 [Option ID = 1197851]
4. 1000 Ohm / 1000 {19 [Option ID = 1197852]

Correct Answer :-
« 100 Ohm / 100 31H [Option ID = 1197849]

13) For a normal human eye, the distance of distinct vision is about:-

T I AE o & g, fafke e & & W 2:-
[Question ID = 315654]

1. 15 cm / 15 9t [Option ID = 1197853]
2. 25 cm / 25 G [Option ID = 1197854]
3. 35 cm / 35 9T [Option ID = 1197855]
4.5 cm / 5 9 [Option ID = 1197856]

Correct Answer :-
« 25 cm / 25 941 [Option ID = 1197854]

14) The processs of depositing one metal, generally a superior metal like silver, chromium or nickel,
over another metal is called:-

wa%gamaﬂﬁaﬁuﬁm,mﬁwaﬁ,ﬁmmﬁﬁaﬁwaﬁ?mﬁwwmww
STl &:-

[Question ID = 315655]
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3. Electroplating / Tdgdd [Option ID = 1197859]
4. Alloying / forsieTg [Option ID = 1197860)

Correct Answer :-
« Electroplating / fdgad [Option ID = 1197859]

15) A redox raction is a reaction in which:-

YT ag s ufaferar g fRrad:- [Question ID = 315656]

1. Oxidation takes place / 3TFRIIHR0T 8 1A & [Option ID = 1197861]

2. Reduction takes place / Feldl 8iit & [Option ID = 1197862]

3. Neither oxidation nor reduction takes place / 7 @7 3RS0 3T 7 g HH ERAt @ [Option ID = 1197863]

4, Oxidation and reduction take place simultaneously / 3iTefi&RUN 3{R FeTdl U 1Y B1d © [Option ID = 1197864]

Correct Answer :-
« Oxidation and reduction take place simultaneously / S{TaITHRUT 3R FHeldl U 1Y §Id g [Option ID =
1197864]

16) Which allotrope of carbon used in jewellery?
el # STAHTA HTaT BT TARIET B9 I 82
[Question ID = 315657]

1. Gold / T [Option ID = 1197865]
2. Silver / 9d} [Option ID = 1197866]
3. Diamond / ERT [Option ID = 1197867]
4, Graphite / 1T [Option ID = 1197868]

Correct Answer :-
« Diamond / gRT [Option ID = 1197867]

17) Tiny hairs are moved due to vibrations in fluid in:-

B 919 50 H HWF Pt I98 ¥ 3¢ 91d &:- [Question ID = 315658)]

1. pinna / ¥dg [Option ID = 1197869]

2. ear drum / HUUcy [Option ID = 1197870]
3. hammer / BUIST [Option ID = 1197871]

4. cochlea / SUTAd [Option ID = 1197872]

Correct Answer :-
« cochlea / FUIfad [Option ID = 1197872]

18) Involuntary wave like movement of esophagus is called:-

Wie AT & sMTaTgs a¥ SRil T &1 F8a 2:- [Question ID = 315659]

1. peristalsis / WW [Option ID = 1197873]
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4. pushing / el [Option ID = 1197876]

Correct Answer :-
« peristalsis / hHIH Y [Option ID = 1197873]

19) Type of aquatic animals that can survive in particular water is determine by analyzing its:-

fady voR & wa § Sifaa 38 a@a ard st wHaR) Bt ueha saeT v s Fufa #t e 8-
[Question ID = 315660]

1. pH 7 4iTd [Option ID = 1197877]

2. temperature / dUATT [Option ID = 1197878]
3. volume / 3Gd- [Option ID = 1197879]

4. turbidity / ArTI [Option ID = 1197880]

Correct Answer :-
« pH / dTd [Option ID = 1197877]

20) A group of organisms of same species which are living and reproducing at same era is called:-

T & weh ¥ e st ot 5 welta € ot te € o1 W A 0: Ueee B €, 9% U8 Bed 8:- [Question
ID = 315661]

1. diversity / fafaerT [Option ID = 1197881]

2. biodiversity / o1 fafderar [Option ID = 1197882]
3. habitat / T9far [Option ID = 1197883]

4. propulation / W< [Option ID = 1197884]

Correct Answer :-
« propulation / IR [Option ID = 1197884]

Topic:- JSSC_Set33_GS]

1) The current Chief Minister of Jharkhand is the Member of Legislative Assembly from
constituency.

TRGS ¥ T gErEd frafe & @ Rum aw & T &)
[Question ID = 314091]

1. Jamshedpur East / am?ﬁrgxqgf [Option ID = 1190780]

2. Jamshedpur West / STARIGYR Gf3H [Option ID = 1190781]
3. Ranchi / il [Option ID = 1190782]

4, Dhanbad / ¥-€lg [Option ID = 1190783]

Correct Answer :-
« Jamshedpur East / STHRIGYR Jd [Option ID = 1190780]
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AUINAT 71 IVINDD M7 ol

el

[Question ID = 314092]

1. 24 [Option ID = 1190784]
2. 22 [Option ID = 1190785]
3. 26 [Option ID = 1190786]
4. 28 [Option ID = 1190787]

Correct Answer :-
* 24 [Option ID = 1190784]

3) Pakur district is famous for which of the following ?
g e Prafifea | s Reufrs 2 2
[Question ID = 314093]

1. Stone and Beedi / TR 3R gl [Option ID = 1190788]

2. Handicrafts and Tribal dance / S%IRRIeT 3R 3@t & [Option ID = 1190789]

3. Steel Factory and Leather work / S¥UTd PREMT AR ﬂ'ﬁ?ﬁ DIH [Option ID = 1190790]
4. Glass work and Handicrafts / IR &1 hTH 3R gwfeg [Option ID = 1190791]

Correct Answer :-
+ Stone and Beedi / &R 3R 181 [Option ID = 1190788]

4) Maithon Power Project is located in which of the following district ?

#r Rigaa afdter Pt Rret # & frw R & Rua 22
[Question ID = 314094]

1. Dhanbad / &1 [Option ID = 1190792]
2. Bokaro / §I®RI [Option ID = 1190793]
3. Ranchi / 3 [Option ID = 1190794]

4. Deoghar / ¢dTR [Option ID = 1190795]

Correct Answer :-
» Dhanbad / Y€l [Option ID = 1190792]

5) Whatis the approx height (in feet) of Parasnath Hills ?
TRETY TgTEa) 3 e S (pe #) fPait g 2
[Question ID = 314095]

1. 4431 [Option ID = 1190796]
2. 4150 [Option ID = 1190797]
3. 3431 [Option ID = 1190798]
4. 3150 [Option ID = 1190799]
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6) In which of the following year, Giridih district was formed ?
e PR e fPa ad # ot mar ut 2

[Question ID = 314096]

1. 1972 [Option ID = 1190800]
2. 1974 [Option ID = 1190801]
3. 1973 [Option ID = 1190802]
4. 1975 [Option ID = 1190803]

Correct Answer :-
» 1972 [Option ID = 1190800]

7) The population of Scheduled tribes is found to be highest in district of Jharkhand.
FRTEE F R § ergafe serenfa 3 waffie swde urdt o #1

[Question ID = 314097]

1. Simdega / ST [Option ID = 1190804]
2. Seraikela / GIT&dl [Option ID = 1190805]
3. Deoghar / SaWR [Option ID = 1190806]

4. Gumla / TITel [Option ID = 1190807]

Correct Answer :-
« Simdega / RIS [Option ID = 1190804]

8) Lohardaga district was formed from the splitting of :
drgvem ford o1 fAmfor ¥ e 9 gam |

[Question ID = 314098]

1. Ranchi / Xid1 [Option ID = 1190808]

2. Bokaro / 1&RI [Option ID = 1190809)

3. Hazaribagh / TURIENT [Option ID = 1190810]
4, Gumla / T [Option ID = 1190811]
Correct Answer :-

« Ranchi / Xt [Option ID = 1190808]

9) What is the full form of MGNREGA ?
MGNREGA &1 qUf ®U &1 ¢ ?

[Question ID = 314099]
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2. Mahatma Gandhi National Rural Education Guarantee Act / HeTHT T TP UTHTUT TRI&T TR ST STYTI-HYH [Option
ID = 1190813]

3. Mahatma Gandhi National Regional Empowerment Guarantee Act / FgTeHT it AP &=t Frfaaeseor TR
3fafaH [Option ID = 1190814]

4. Mahatma Gandhi National Remote Employment Guarantee Act / ATl Tielt g RAle AsmR TR aifafan
[Option ID = 1190815]

Correct Answer :-
« Mahatma Gandhi National Rural Employment Guarantee Act / gl il g At AsIR R stfaf-ram
[Option ID = 1190812]

10) What is the amount (in Rs.) given under Indra Gandhi Matritva Sahyog Yojana, in the state of
Jharkhand ?

RS I | g1 Mieht A TehT e & i vera @ W areh Y . ®) et g 2
[Question ID = 314100]

1. 6000 [Option ID = 1190816]
2. 5000 [Option ID = 1190817]
3. 4000 [Option ID = 1190818]
4. 7000 [Option ID = 1190819]

Correct Answer :-
« 6000 [Option ID = 1190816]

11) Which district of Jharkhand is Chhau Dance asscoaited with?
B T IRES & $4 4 o A Gt 22
[Question ID = 314101]

1. Seraikela-Kharsawan / SIS Al-GI01@] [Option ID = 1190820]
2. Godda / TITST [Option ID = 1190821]

3. Chatra / Id?T [Option ID = 1190822]

4. Deoghar / GG 10y [Option ID = 1190823]

Correct Answer :-

« Seraikela-Kharsawan / SRIA& -GGl [Option ID = 1190820]

12) "Karma Pooja" in tribes resembles with festival in Hinduism.
Senfed § 819 arell "eul gur Rz v & ud & A B

[Question ID = 314102]

1. Rakshabandhan / I&Ts¢/ [Option ID = 1190824]
2. Deepawali / ETUTGd! [Option ID = 1190825]

3. Holi / B¢t [Option ID = 1190826]

4, Dussehra / GRIgxI [Option ID = 1190827]
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13) DevakiNandan Prasad wrote the book .
AP A TS ST o fpar 2|
[Question ID = 314103]

1. Nidhre Aankhi Jalaankhi Paate / [ 3fi&l STe=d1 UTd [Option ID = 1190828]
2. Kurmali Bhasha Tatva / @Tﬂ?’ﬁ HTYT dod [Option ID = 1190829]

3. Karam Geet / &9 7fid [Option ID = 1190830]

4, Netha Pala / 34T qa [Option ID = 1190831]

Correct Answer :-
« Nidhre Aankhi Jalaankhi Paate / fieR 3{idl Sie=dt rd [Option ID = 1190828]

14) "Vidu Chaandan” is the first ever drama of Santhali literature written by,
rgurft it T vum AT "fagaiega_  gRifrerman g

[Question ID = 314104]

1. Raghunath Murmu / THHH{[Option ID = 1190832]

2. Doman Sahu Sameer / S AIg ¥HR [Option ID = 1190833]
3. Nanku Soren / 1% TR [Option ID = 1190834]

4, Roopnarayan Shyam / ®U-TRTIU ]YMH [Option ID = 1190835]

Correct Answer :-
« Raghunath Murmu / TQHTHHJi[Option ID = 1190832]

15) Ghaghri Waterfalls are located at
s #fREE)
[Question ID = 314105]

1. Netarhat / FaRETE [Option ID = 1190836]

2. Lohardaga / IR [Option ID = 1190837]
3. Gadhwa / T4l [Option ID = 1190838]

4, Saranda / 9RST [Option ID = 1190839]

Correct Answer :-
« Netarhat / aRgIc [Option ID = 1190836]

16) Baiga Tribes consider as the sacred animal.
CUIREIT] Y Ui WHER A 8
[Question ID = 314106]

1. tiger / 9Y [Option ID = 1190840]
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4, Bull / &cf [Option ID = 1190843]

Correct Answer :-
« tiger / 99 [Option ID = 1190840]

17) "Eedi-mi" is the marriage form of tribes.
R, et F REr st a2
[Question ID = 314107]

1. Asur / 313X [Option ID = 1190844]
2. Banjara / ST [Option ID = 1190845]
3. Gond / TS [Option ID = 1190846]
4. Santhal / 9UTeT [Option ID = 1190847]

Correct Answer :-
e Asur / 31X [Option ID = 1190844]

18) Construction of Palamu Fort was started in which year ?
ey fd @1 frafor foa af § Ry gan 2
[Question ID = 314108]

1. 1619 A.D. [Option ID = 1190848]
2. 1718 A.D. [Option ID = 1190849]
3. 1314 A.D. [Option ID = 1190850]
4. 1517 A.D. [Option ID = 1190851]

Correct Answer :-
» 1619 A.D. [Option ID = 1190848]

19) Baba Bansidhar temple situated at Nagar Untari has an idol made up of gold of Lord krishna
weighing

TR Jer # fRa T =R dfer 9 | 70 wmar For 91 gdf 1 g 2
[Question ID = 314109]

1. 1280 kg / 1280 faseiITH [Option ID = 1190852]
2. 1100 kg / 1100 f&&RIMH [Option ID = 1190853]
3. 1560 kg / 1560 TR [Option ID = 1190854]
4, 1400 kg / 1400 f&EUTT [Option ID = 1190855]

Correct Answer :-
« 1280 kg / 1280 fada@am™ [Option ID = 1190852]

20) Another form of Bansuri is .
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LYUCILIVIE AW = JATLAWV]

1. Murli / TR [Option ID = 1190856]

2. Shehnai / 18-S [Option ID = 1190857]

3. Kendri / %=1 [Option ID = 1190858]

4. Madanbheri / TGA9S [Option ID = 1190859]

Correct Answer :-
« Murli / GReit [Option ID = 1190856]

21) Dosmi dance uses form of music.

Il T A WHR ¥ fta &1 W b wrar @

[Question ID = 314111]

1. Langde / ETI@' [Option ID = 1190860]
2. Sohrai / TIEE [Option ID = 1190861]
3. Karma / @H1 [Option ID = 1190862]
4. Biha / &1 [Option ID = 1190863]
Correct Answer :-

« Langde / @S [Option ID = 1190860]

22) In Sohrai dance, females sing

HIgwTs 7 | Afgen g
[Question ID = 314112]

1. Chumawadi /ﬂﬂﬁl’eﬁ [Option ID = 1190864]
2. Langde / ETI? [Option ID = 1150865]

3. Jamaav / SHId [Option ID = 1190866]

4, Sakraat / ¥#0d [Option ID = 1190867]

Correct Answer :-
« Chumawadi / gHATS! [Option ID = 1190864]

23) What was the main reason for the tribal movement ?
TG GIeTT T YT BTN T AT ?
[Question ID = 314113]

1. Exploitation of the oppressed / G- fa5d Il BT ITHOT [Option ID = 1190868]
2. Deforestration / @1 &1 ®eTs [Option ID = 1190869]

3. Illegal Coal Mining / TR HIT@l - [Option ID = 1190870]

4, Partiality amongst residents / a1l & st BgUTE [Option ID = 1190871]

Correct Answer :-
« Exploitation of the oppressed / & &8 Il ST QWU [Option ID = 1190868]
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£4) WWNO STICKEWd NE poOsSIErs on wne piiars €Enuuea vur swaaneen opnarac in 1743 in wiriamn ¢

1913 # fYEie o @) W "simax Wi yRa” ¥ife & v fvam faued 4 2

[Question ID = 314114]

1. Nirmal Chandra Banerjee / @ @= €aif [Option ID = 1190872]
2. Sharat Chandra Rai / YRd 9% I [Option ID = 1190873]

3. Sheetal Banerjee / 2iad &Toil [Option ID = 1190874]

4, Raghunath Murmu / 914 XA [Option ID = 1190875]

Correct Answer :-
« Nirmal Chandra Banerjee / fAHd a= a-9if [Option ID = 1190872]

25) Which king did Jahangir imprisoned in the fort of Gwalior as a punishment for not paying tax in
1616?

1616 # T TE 31 F PR {5 AER™ &) SRR A AR & fFa A e s Rarar?
[Question ID = 314115]

1. Durjan Saal /§T:f=l 3Tet [Option ID = 1190876]

2. Raghunath Shah / ¥4 g [Option ID = 1190877]
3. Yadunath Shah / TGy Al [Option ID = 1190878]
4, Sundar Singh / g<X g [Option ID = 1190879]

Correct Answer :-
« Durjan Saal / g5 9Iel [Option ID = 1190876]

26) Which rebellion was suppressed in 1820-21 under Major Rafsez and in 1837 under Captain
Wilkinson ?

1820-21 § AR YTGAW dUT 1837 H Hr Rfehw $ Iqa A fra e S em Rumarur ?
[Question ID = 314116]

1. Ho Revolt / 81 fd%I8 [Option ID = 1190880]

2. Kol revolt / ®Id fdgig [Option ID = 1190881]

3. Tamar Revolt / THR fagig [Option ID = 1190882]
4, Munda Revolt / §3T {d5Ig [Option ID = 1190883]

Correct Answer :-
+ Ho Revolt / 8 fd%Ig [Option ID = 1190880]

27) Which of the following kings of Ramgarh was opposing the British from the beginning till the
end ?

fraferf@a & A TTe &1 19 11 I I A o T 36 31 faRiy Far w2

[Question ID = 314117]
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3. Bhushan Singh / 4YUT 148 [Option ID = 1190886]
4, Vishwanath Singh / fa%=1y fig [Option ID = 1190887]

Correct Answer :-
« Mukund Singh / G ¢ f&g [Option ID = 1190884]

28) In which year, the first documentary in Jharkhand was made ?
FREvE § Ugan gutee fog o § a9 o ?

[Question ID = 314118]

1. 1964 [Option ID = 1190888]

2. 1954 [Option ID = 1190889]

3. 1957 [Option ID = 1190890]

4. 1960 [Option ID = 1190891]

Correct Answer :-

» 1964 [Option ID = 1190888]

29) Under whose leadership in the Santhal Pargana, the local women challenged the salt laws ?
T 9T e Aqe § agi @) Afgensit A T0E S S g S @ 2
[Question ID = 314119]

1. Shailbala Rai / SrdETEn I [Option ID = 1190892]

2. Rani Sarveshwari / It G341 [Option ID = 1190893]

3. Sister Nirmala / Riex fAtfar [Option ID = 1190894]

4, Savitri Poorti / Tfa=t tL‘tff[Option ID = 1190895]

Correct Answer :-

« Shailbala Rai / Id€TdT I/ [Option ID = 1190892]

30) Who proclaimed "Aboua Raj Utezna, Maharani Raj Tudu" (i.e. Now Munda Raj has begun and
Queen Victoria Raj has ended) ?

e Hivum & "3ETs T TewH1, TeRT I g8 (Srufq o G I IR &) Mt ® ok R R e
AT B TATR) ?

[Question ID = 314120]

1. Birsa Munda / fa=am 13,31 [Option ID = 1190896]
2. Tana Bhagat / dFIT YITd [Option ID = 1190897]
3. Jatra Bhagat / STdRT HITd [Option ID = 1190898]
4, Tilka Maanjhi / faepT Tigft [Option ID = 1190899]
Correct Answer :-

« Birsa Munda / {1 43T [Option ID = 1190896]
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1) Pointing to Kapil, Shilpa said, "His mother’s brother is the father of my son Ashish.” How is Kapil
related to Shilpa?

ggmmmﬁguﬁm%m" IS AT BT UTE WY A2 =AY B e 2 it &1 Rem S & n

[Question ID = 314231]

1. Sister-in-law / {1+t [Option ID = 1191340]
2. Nephew / 3dISIT [Option ID = 1191341]

3. Niece / Mol [Option ID = 1191342]

4, Aunt / 3{i¢T [Option ID = 1191343]

Correct Answer :-
+ Nephew / HcilSlT [Option ID = 1191341]

2) Arrange the given words in alphabetical order and tick one that comes at the second place.

fog T s Y SrpTRIfe wH | A SR oY g RN R WY 3T B 39 W AR amy |
[Question ID = 314232]

1. Music / Tl [Option ID = 1191344]

2. Mint / Q&I [Option ID = 1191345]

3. Mink / T TSR P Haaad [Option ID = 1191346]
4. Murder / T [Option ID = 1191347]

Correct Answer :-
« Mint / G&IHT [Option ID = 1191345]

3) satish remembers that his brother's birthday is after 15" but before 18" of February whereas

his sister Kajal remembers that her brother's birthday is after 16" but before 19t of February. On
which day in February is Satish's brother's birthday?

T F1 4TS ¢ fF ITF YIS BT THe 15 F 91 WX 18 TRl & Ugd ¢ Sdic B! g8 HIold B U5 &
5 9% uE 1 Tl 16 F q1E WY 19 TR F Ugd 7| Badt & frw @ weltw & urd 1 weafe 22
[Question ID = 314233]

1. 16t / 16di [Option ID = 1191348]
2. 17th 7 1747 [Option ID = 1191349]
3. 18t / 18a7 [Option ID = 1191350]
4, 19t / 19ai [Option ID = 1191351]

« 17t/ 17di [Option ID = 1191349]

4) In the following series is written in the reverse order, which number will be the fourth to the
right of the seventh number from the left?


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

frrafafea dRtw 7 Ia¢ 7 # fora T & F9-31 9.0 a1e @ grad! e & gt o & @idt wem gt

7,3,970,3,8,4,21,0,5, 11, 13. [Question ID = 314234]

1. 0 [Option ID = 1191352]
2. 5 [Option ID = 1191353]
3. 9 [Option ID = 1191354]
4. 11 [Option ID = 1191355]

Correct Answer :-
» 0 [Option ID = 1191352]

5) How many numbers from 1 to 100 are divisible by 12 but not divisible by 36?

1 ¥ 100 T fFat 9= 12 A fAwfera 8t @ W 36 / TE? [Question ID = 314235]

1. Eight / 3T& [Option ID = 1191356]
2. Seven / 9IId [Option ID = 1191357]
3. Five / Ui [Option ID = 1191358]
4, Six [/ 9: [Option ID = 1191359]

Correct Answer :-
« Six / ®: [Option ID = 1191359]

6) The wall clock takes 6 seconds to strike 4, how much time it will take to strike 12?

TP TSI ¥ 4 Ufeai a9 & W 6 VFs &1 999 Tl ¢ | 12 "fted) & firg fa=m w9g @im? [Question ID
= 314236]

1. 18 seconds / 18 Y& s [Option ID = 1191360]
2. 20 seconds / 20 S [Option ID = 1191361]
3. 22 seconds / 22 A$HS [Option ID = 1191362]
4, 24 seconds / 24 9&S [Option ID = 1191363]

Correct Answer :-
« 22 seconds / 22 ¥&3 [Option ID = 1191362]

7) A woman says,"If you reverse my own age, the figures represent my husband's age. He is, of
course, senior to me and the difference between our ages is one-eleventh of their sum. The age of
the woman is:-

TT Afyen weel 8, "afg oM B 99 ) Sl frwr Al g v M U A Sy A ufdt Bl ap g S § ol
TH G T IH FT 3% I T F 1/11 §| " Afgen f 37 &:- [Question ID = 314237]

1. 23 years / 23 9§ [Option ID = 1191364]
2. 34 years / 34 Y [Option ID = 1191365]
3. 45 years / 45 @Y [Option ID = 1191366]
4, None of these / 378 & @13 it 781 [Option ID = 1191367]

Correct Answer :-
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8) A number of friends decided to go on a picnic and planned to spend Rs 960 on food. Four of them,
however, did not turn up. As a consequence, the remaining ones had to contribute Rs 40 each extra.
The number of those who attended the picnic was:-

F0 Il A Uefe W &1 g 5 iR 1ieH W 960 ¥ W $33 3 diemr 9915 | AfFT 370 A IR I
frefre T8 | R oRo, St Eha Refre 1T A, 379 TlT 31 40 T ofie 3 03| Refe w
SRl 1 §@ dt:- [Question ID = 314238]

1. 8 [Option ID = 1191368]

2. 12 [Option ID = 1191369]
3. 16 [Option ID = 1191370]
4. 24 [Option ID = 1191371]

Correct Answer :-
+ 8 [Option ID = 1191368]

9) Itis 3 O'clock in a watch. If the minute hand points towards the North-East, then the hour hand
will point towards which direction?

oSt § 3 99 ¥ a3 frte 9 g &1 R SwR-ud 971 ok R, a9 9 g &1 R b R & € [Question
ID = 314239]

1. South / TfEMOT [Option ID = 1191372]

2. South-west / f&OT Of¥T [Option ID = 1191373]
3. North-west / ITR-Uf3H [Option ID = 1191374]
4, South-east / Ef\&FUT—Iﬁ [Option ID = 1191375]

Correct Answer :-
« South-east / TI&UI-Td [Option ID = 1191375]

10) A car driver known four different routes from Delhi to Amritsar. From Amritsar to Pathankot, he
knows three different routes and from Pathankot to Jammu he knows two different routes. How
many routes does he know from Delhi to Jammu?

TP TR 1A feedt 9 WM & AR T S IR B AAGRT 7T & 1 SR Q USHBIE & i
magﬂuﬁagm R TSTIEIE | T F S ST ST IR ST 21 oot § oy & fren IR 9w
T 82

[Question ID = 314240]

1. 4 [Option ID = 1191376]
2. 8 [Option ID = 1191377]
3. 12 [Option ID = 1191378]
4, 24 [Option ID = 1191379]

Correct Answer :-
= 24 [Option ID = 1191379]
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U fiar &Y 39 3% 9¢ | FF 1 ]| uTe U vgd S9! IW SR 98 AR AT At I 9@ I I g |

[Question ID = 314241]

1. 12 years / 12 @ [Option ID = 1191380]
2. 15 years / 15 39 [Option ID = 1191381]
3. 18 years / 18 Y [Option ID = 1191382]
4, 20 years / 20 @4 [Option ID = 1191383]

Correct Answer :-
+ 15 years / 15 a4 [Option ID = 1191381]

12) Pointing to an old man, Sohan said, "His son is my son's uncle.” How is old man related to
Sohan?

TH ¢ MSH! B 3T TR Fd §T TG A FeT, "ITPT 9T WY a¢ 7 3iHd 8" 9¢ MGH! o1 |igT 9 31
f¥=ar 22 [Question ID = 314242]

1. Brother / 47§ [Option ID = 1191384]
2. Uncle / 3@ [Option ID = 1191385]
3. Father / fUdT [Option ID = 1191386]
4. Grand father / <IQT [Option ID = 1191387]

Correct Answer :-
« Father / fidT [Option ID = 1191386]

13) If the day before yesterday was Thursday, when will be Sunday?

Tfe ol geuidaR o |t AR &9 §1? [Question ID = 314243]

1. Today / 319 [Option ID = 1191388]

2. Two days after today / 31 9 & f&= 91 [Option ID = 1191389]
3. Tomorrow / @d [Option ID = 1191390]

4. Day after tomorrow / TR [Option ID = 1191391]

Correct Answer :-
¢ Tomorrow / &¢l [Option ID = 1191390]

14) By interchanging given two signs and numbers which equation will be correct?

+and +; 3and 6

fu v €1 it SiEaTsi auT SidT @Y STUE § YRR Ja UR 3 |1 GHSuT WEl 8) e
+TqUT+;3TUT6

[Question ID = 314244]

1.3+ 6+ 6 =12 [Option ID = 1191392]
2.6+ 3 + 4 =3.25[Option ID = 1191393]
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Correct Answer :-
e 3+ 6+ 2=4[0ption ID = 1191395]

15) Which sequence of mathematical symbols can be placed at question mark (?) in the given
equation to correct the equation?

1 fordig wfrme 1 2w o witewor & vy g (2) 3 ®M R @ W) 9t 98 8 s

120?24?8?57?8
[Question ID = 314245]

1. +, =, x, — [Option ID = 1191396]
2. -, =, X, + [Option ID = 1191397]
3. =, x, +, = [Option ID = 1191398]
4, +, x, =, x [Option ID = 1191399]

Correct Answer :-
s +, X, =, x [Option ID = 1191399]

A} [}

16) If ‘n’ means'<=’, ‘g’ means 'x’, ‘I’ means '+’ and ‘f’ means ‘-, then which of the following
equation is correct?

Tl ‘o’ BT 3 227, g BT 3 ¢, 1 D1 3 4 AT B1 3 - 7, o FPmfaEe § @ S-an arftevor wd
27 [Question ID = 314246]

1.16n2f212g2 = 1/2 [Option ID = 1191400]
2.12f2n614g3 =70/3 [Option ID = 1191401]
3.30f10 n 121 10 = 465/12 [Option ID = 1191402]
4.46n2112f14 g3 = -7 [Option ID = 1191403]

Correct Answer :-
e 46n2112f14 g3 =-7 [Option ID = 1191403]

17) A watch reads 9:00 o'clock and I found that the hour hand is pointing South-east. In what
direction, the minute hand of my watch is at that time?

ugt 7 9:00 991 ¥ € Y var e 2 fob 62 &t g &1 Ry fgr-gd fimn it oiR 3| suwwa e S g o
R f5 fo=m & @112 [Question ID = 314247]

1. East/ \Icf [Option ID = 1191404]

2. North / 9<R [Option ID = 1191405]

3. South / Gf2[UT [Option ID = 1191406]

4, South-west / Gf&0r Gfgm [Option ID = 1191407]
Correct Answer :-

« South-west / Gf&01 Uf&H [Option ID = 1191407]
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Prafafea e §, 90l & oo g Ry T 8, Rrd @ o 9 Sieey, ife wift § gamar &) 38« aof 3
UGYI BIToE| [Question ID = 314248]

1. A [Option ID = 1191408]

2. E [Option ID = 1191409]

3. M [Option ID = 1191410]
4. O [Option ID = 1191411]

Correct Answer :-

« M [Option ID = 1191410]

19) Rakesh is passing by a river and he knows how to swim. Suddenly, he hears the cry of a
drowning child. What he should do to save the child?

THY U RE 3| TP o7 T & 07 A o4 §¢ I U9 Faa g¢ 92 31 It T8 ot | sH R 3w
T &I g & Y 3T w1 HIAT A1l u?

[Question ID = 314249]

1. dive into the river to save the child / el & TaRT THR 39 §= DI I9MT A1BY [Option ID = 1191412]

2. call and wait for professional divers / T2IER qXI® B B B IUD] SdoR BT deT [Option ID = 1191413]

3. wait for some other person to come and help / f&ET e Safda & 2 3R TeTadl &3 & o weiter &1
91f3T [Option ID = 1191414]

4. console the child’s parents / ¥ & ATI-UdT ST Ficd1 &1 1T [Option ID = 1191415]

Correct Answer :-
« dive into the river to save the child / Tdl § BN TIHR 39 g &1 9T MgV [Option ID = 1191412]

20) When the time by the watch is 20 minutes past 7, the angle between the hands of the watch is:-

v freft wt & 7 sorar 20 fiFTe &1 WY T ], 99 U A <1 gl & i 31 B0 g &:-
[Question ID = 314250]

1. 100° [Option ID = 1191416]
2. 90° [Option ID = 1191417]
3. 80° [Option ID = 1191418]
4. 95° [Option ID = 1191419]

Correct Answer :-
« 100° [Option ID = 1191416]

Topic:- J1SSC_Set33_Math

1) A person sold a radio at a loss of 5%. If he had sold it for Rs. 510 more, he would have gained
15%. For what value should he sell it in order to gain 30%.
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[Question ID = 313991]

1. Rs. 3315 [Option ID = 1190379]
2. Rs. 1785 [Option ID = 1190380]
3. Rs. 6630 [Option ID = 1190381]
4. Rs. 1190 [Option ID = 1190382]

Correct Answer :-
e Rs. 3315 [Option ID = 1190379]

2) If (x/3) = (y/5) then ratio of (x+3)/(y+5) is equal to
Tfe x/3 = y/5 @ (x+3)/(y+5) FTAA il
[Question ID = 313992]

1. 3:5 [Option ID = 1190383]
2. 1:1 [Option ID = 1190384]
3. 5:3 [Option ID = 1190385]
4. 3:8 [Option ID = 1190386]

Correct Answer :-
« 3:5 [Option ID = 1190383]

3) Principal of Rs. 5,000 becomes Rs. 6,000 in four years at a certain rate of simple interest. If rate
is increased by 2%, calculate new amount (in Rs.)?

5,000 =04 1 TR 4 quf & FUR A F A 3T W 6,000 TUL 8 @ 2] af S Y W 2% A 79T
& o 9 T fryes (5. o) B oA a3

[Question ID = 313993]

1. 6400 [Option ID = 1190387]
2. 6800 [Option ID = 1190388]
3. 6600 [Option ID = 1190389]
4. 6200 [Option ID = 1190390]

Correct Answer :-
= 6400 [Option ID = 1190387]

4) Express 8/7 as rate percentage?
8/7 & &R Wia<d & =9 | gIa?
[Question ID = 313994]

1. 114.28 [Option ID = 1190391]
2. 154.28 [Option ID = 1190392]
3. 124.28 [Option ID = 1190393]
4. 104.28 [Option ID = 1190394]
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5) Which of the following does not lie between 4/5 and 7/13?
fFafafea i G st dene/s @ 7/13 F A A 6 82

[Question ID = 313995]

1. 2/3 [Option ID = 1190395]
2. 1/2 [Option ID = 1190396]
3. 3/4 [Option ID = 1190397]
4. 5/7 [Option ID = 1190398]

Correct Answer :-
« 1/2 [Option ID = 1190396]

6) Surbhi alone can complete a work in 16 days and Snighdha alone in 12 days. If Surbhi starts
working first and they both work alternatively, In how many days will the total work be completed?

WY P TE T Bl 16 A A i R wadl @ iR Rrwr srpa S s A 12 e A puf v et @ |
IR WA T PH FTA IR FRA ¢ AR AT P RIS wRAFH Fxdi s A e P QUi g &
fora o1 1 v w?

[Question ID = 313996]

1. 96/7 [Option ID = 1190399]
2. 55/4 [Option ID = 1190400]
3. 29/2 [Option ID = 1190401]
4. 27/2 [Option ID = 1190402]

Correct Answer :-
= 55/4 [Option ID = 1190400]

7) A man can row a boat at 5km/h in still water. If the velocity of current is 1 km/h and it takes him
one hour to row to a place and come back, how many kilometres is the place from the starting point?

T et Tid we § 5 el der Y 1fy @ 9 =erar €]« B 9 1 Rty ver §) aft <@ e Afim wme
TP TTHR AT Aled 31 | U UeTl BT THY T 8, df 98 I Bi g o fig & v fft 22

[Question ID = 313997]

1. 2.4 [Option ID = 1190403]
2. 2 [Option ID = 1190404]
3. 3 [Option ID = 1190405]
4. 3.6 [Option ID = 1190406]
Correct Answer :-

e 2.4 [Option ID = 1190403]

8) Slope of line perpendicular to line y= -4x+2 is .
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LYHTILIVILI AW = JLITTD]

1. 4 [Option ID = 1190407]

2. -1/4 [Option ID = 1190408]
3. 1/2 [Option ID = 1190409]
4. 1/4 [Option ID = 1190410]

Correct Answer :-
= 1/4 [Option ID = 1190410]

9) The external bisectors of angle Y and angle Z of triangle XYZ meet at point O. If angle YXZ=70°,
then angle YOZ is

Brye Xyz F F0 Y 3R B 2 & amer Ry o fig W el ¥1 TeTR, afR S vxz=70° €, A Him
YOZ fora=m givme

[Question ID = 313999]

1. 55° [Option ID = 1190411]
2. 110° [Option ID = 1190412]
3. 145° [Option ID = 1190413]
4. 45° [Option ID = 1190414]

Correct Answer :-
« 55° [Option ID = 1190411]

10) In a right angled triangle XYZ, angle Z is right triangle. If sides of triangles are respectively x,y,z
and length of perpendicular from Z to XY is h, then which of the following is true?

T THSIU Y XYZ §, B0 2 FHSI0T § 3N Z |F XY W T4 T o 3 918 h 2 313 x,y,z H0: fys
Ft Yo 8, o) Faffad # @ o-91 v 98 22

[Question ID = 314000]

1. (x2+y?2) h2=x2y2 [Option ID = 1190415]
2. x2+y2=x2y2h? [Option ID = 1190416]

3. h2=x2+y? [Option ID = 1190417)

4. h2=x2-y? [Option ID = 1190418]
Correct Answer :-

o (x2+y?) h2=x2y2 [Option ID = 1190415]

11) The external angle of a cyclic quadrilateral is 60°. What is the measure of its internal opposite
angle?

Tfe T Tig TgUa BT I8 BT 60° B, T IqST fiaivd T HIvl fHa-m grm?
[Question ID = 314001]

1. 60° [Option ID = 1190419]
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4, 300° [Option ID = 1190422]

Correct Answer :-
« 60° [Option ID = 1190419]

12) Each side of a quadrilateral touches a circle. If length of its three consecutive sides are 7 cm, 8
cm and 6 cm then what will be the length of its fourth side?

it Tgue 3t wilft Yot ue 79 o el Fedt 3| afe T9S A AR ysiel 3t darg was: 7 9., 8
A.A. 7u1 6 .. § <t N Yo F wwr | ERR

[Question ID = 314002]

1. 5cm /5 3.1, [Option ID = 1190423]
2.9 cm /9 9.7, [Option ID = 1190424]
3.7 cm/ 7 9.4, [Option ID = 1190425]
4,10 cm/ 10 9.1, [Option ID = 1190426]

Correct Answer :-

« 5cm/ 5 9.1, [Option ID = 1190423]

13) Match List I (Angle of Trigonometrical ratio) with List II (Value) and select the correct answer.

TR 1 (Bt st &1 o) 31 e Rl 11 (@) 3 sim|

List I \9Ri I List IT\9RUA 11
(a) sin 45° (p)2/Vv3
(b)cos0° (q)0

( c) cot 90° (r)i/v2
(d)sec30° (s)1

[Question ID = 314003]

1.(a)sin45°-(r)1/v2;(b)cos0°-(s)1;(c)cot90°-(q)0;(d)sec30°-(p)2/V3[OptionID =
1190427]

2.(a)sin45°-(s)1;(b)cos0°-(r)1/vV2;{(c)cot90°-(q)0;(d)sec30°-(p)2/V3[OptionID =
1190428]

3.(a)sin45°-(r)1/v2;(b)cos0°-(q)0;(c)cot90°-(s)1;(d)sec30°-(p)2/v3[OptionID =
1190429]

4. (a)sin45°-(p)2/v3;(b)cos0°-(s)1;(c)cot90°-(q)0;(d)sec30°-(r)1/v2[OptionID =
1190430]

Correct Answer:-
e« (a)sin45°-(r)1/v2;(b)cos0°-(s)1;(c)cot90°-(q)0;(d)sec30°-(p)2/v3[OptionID =
1190427]

14) If sin x + cos 2x = 1, then what will be the value of sin 2x + cos x when 0°<x<90° ?
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LYUHESILIVIE AW = JLTUUT]

1. V3 [Option ID = 1190431]
2. 2/V3 [Option ID = 1190432]
3. 1/2 [Option ID = 1190433]
4. v2 [Option ID = 1190434]

Correct Answer :-
« V3 [Option ID = 1190431]

15) The INCORRECT statement amongst the following is
Pefifeadd_  suwweas
[Question ID = 314005]

1. (1+cos A)/(sin A) = (sin A)/ (1+cos A) [Option ID = 1190435]
2. (1+sec A)/(sec A) = (sin?A)/(1-cos A) [Option ID = 1190436]
3. (1-cos2A)cosec2A=1 [Option ID = 1190437]

4, tanA-sin?A= tan2A sin?A [Option ID = 1190438]

Correct Answer :-
¢ (1+4cos A)/(sin A) = (sin A)/ (1+cos A) [Option ID = 1190435]

16) A circle and a rectangle have same perimeter. The sides of the rectangle are 8 cm and 14 cm.
What is the area of the circle?

% g9 AR 3mad &1 afef 7w 81 amga &1 Yo 8 A4, 2R 14 A, T g9 &1 Sawd Ja B2

[Question ID = 314006]

1. 154 cm? \ 154 9.71.2 [Option ID = 1190439]
2. 22 cm? \ 228.701.2 [Option ID = 1190440]
3. 77 cm? \ 77 9.101.2 [Option ID = 1190441]
4, 308 cm? \ 308 ¥.711.2 [Option ID = 1190442]

Correct Answer :-
+ 154 cm? \ 154 9.11.2 [Option ID = 1190439]

17) In atriangle XYZ, point M and N lie on sides XY and XZ such that MN is parallel to BC. If
MN:YZ=4:9 then what is the ratio of areas of triangle XMN and trapezium MYZN?

By Xyz § Yo XY 941 X2 W1 S fig M 9T N 37 TR & § BT BC & TUT=R MN 81 Tfg MN:YZ=4:9 g1 dt
BYs XMN @41 90dd MYZN & 85%d ST SuTd T g2

[Question ID = 314007]

1. 16:65 [Option ID = 1190443]
2. 65:16 [Option ID = 1190444]
3. 9:4 [Option ID = 1190445]
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Correct Answer :-
s 16:65 [Option ID = 1190443]

18) Radii of two concentric circles are 5 cm and 13 cm respectively. If chord of larger circle touches

the smaller one then length of chord will be .
a’rmqﬁaﬁﬁﬁ?ﬁsﬁ.ﬁ. 3T 13 A.1. 2| Tt 73 g1 &Y oitaT B 99 B W It ©, 7 S AT B
aErs_ |

[Question ID = 314008]

1. 24 cm \ 24 9.191. [Option ID = 1190447]
2. 12 cm \ 12 1.7, [Option ID = 1190448]
3. 18 cm \ 18 4.7, [Option ID = 1190449]
4, 8 cm \ 8 9.7, [Option ID = 1190450]

Correct Answer :-

« 24 om\ 24 .11, [Option ID = 1190447]

19) If cot ®=7/8, then what is the value of (1-sin?®/1-cos2®)?
TfE cot ®=7/8 &, T (1-sin2®/1-cos2d) FT HIF FT EN?
[Question ID = 314009]

1. V113/49 [Option ID = 1190451]
2. 49/v113 [Option ID = 1190452]
3. 49/64 [Option ID = 1190453]
4. 64/49 [Option ID = 1190454]

Correct Answer :-

e 49/64 [Option ID = 1190453]
20) Find the value of (sec A + cos A + tan A).

(sec A + cos A + tan A) FT HE J1d B2

[Question ID = 314010]

1. cos A + sin A [Option ID = 1190455]

2.2 cos A + tan A (1+sin A) [Option ID = 1190456]
3. tan A (1+sin A) [Option ID = 1190457]

4. cos A + cot A [Option ID = 1150458]

Correct Answer :-
s« 2cos A+ tan A (1+sin A) [Option ID = 1190456]
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